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Warm Up 1/(Reciprocal of 1/11) QUIZ FRIDAY! (Probably)

T — ——
KM bisects £JKL. All the basics of geometry

Find m£JKM. J

mZJKM = 30°
Remem bel’ fhe d iffe rence... Draw an angle with the given name.
1 4. T J 5. 4NBQ N
AB = the name of the segment i

AB = the length of the segment w T 8 s

Name each angle in as many different ways as possible.
2DEF = the name of the angle . ;
m4DEF = the measure of the angle WTX‘ M
L
: 2L, £6L, ZJLG, and 22
LW, LZWX, ZXWZ, and £1

20. Find the value of x, given 21, Find the value of y, given
that mZPQS = 112°. that mZKLM = 135°
Use the Angle Addition Postulate to find the measure of each angle.
15 ZBXC n/AKB + mZBXC = s
40° + m£BXC
mZBXC = pea Al
P Q
16. /BXE
. mZPQR + mZRQS = mZPQS
mZLEXF + mZBXE = mZBXF 72 L 10x= 112 mLKLN + mZNLM = mZKLM
30° + m/BXE = 140° —
x=4 47 + 16y = 135

o
mZBXE =110 y=55
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25. Determine whether each of the following pairs of angles have equal measures.
Select the correct answer for each lettered part.

A. £KJLand ZL]M Ots @No
B. ZMJPand ZPIR Bvs ONo
€. 21JP and ZNJR ® v (O No
D. ZMJK and ZBJR O Yes @ No
E. ZKJRand ZMJP O Yes @ Mo

2. no; mLLIM = 90° — 42° = 48° ¥ mZKIL
b. yes; m/NJP = 48° so mZMJP = 46° + 48° = 94° and m/PJR = 48° + 46° = 94°
€. yes; mZNIP = 48° and mZLIM = 90° — 42° = 48° so mZLIP = 48° + 46° + 48° =
142° and mZNJR = 48° + 48° 4+ 46° = 142°
d. no; mZMJK = 90° but mZPJR = 48° + 46° = 94°
e. no; mLKJR = 360° — 90° — 46° — 48° — 48° — 46° = 82°, but
mLMIP = 46° + 48° = 94°

Postulate

What is AC2
12 4
*———o—0
A B C
What is DF2

~_ r

If three points are collinear, then the lengths of the two shorter
segments equals the length of the larger segment.

Segment Addition Postulate .77
|

Let A, B, and C be collinear points. If B is
between A and C, then AB + BC = AC

Notice: this means the length of
segment AB plus the length of segment
BT equals the length of segment AT

*————eo—0

A B C

Angle Addition Postulate bg. 792
|

If S is in the interior of ZPQR , then
mMZPQR = mZPQS + m«SQR .

msZXWzZ = 121° and mZXWY = 59° . Find
m«sZYWZ. v

X

w z

msLYWZ = msXWZ - msXWY / Add. Post.
msYWZ = 121° - 59°

msZYWZ = 62° Subtract.

Substitute the given values|
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Table of Contents (2" Semester)

p. 0 Geometry Basics Foldable
p-1 Midpoint and Dist on a Coordi

Plane

Objective:

-Find the exact midpoint of a segment on a
coordinate plane

-Find the exact distance between two points on a
coordinate plane

1 |
Midpoint & Distance on a Coordinate Plane

Midpoint Exploration

Midpoint Formula

Midpoint of (x;, y;) and (x,, y,) is:

(x1+xz J’1+}’2)
2 7 2

DON’T JUST MEMORIZE THE FORMULA. Understand what it

means. You are finding the values halfway between the x’s
and halfway between the y’s¥!

Answers to 5-8

s
5)(7.5,7)
6) (-6, 1)

7) (%2, -9)

8)(-8,2)

Distance
|

Can we find the distance (aka the length) of a line?

Can we find the distance (aka the length) of a line
segment?
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Distance Formula

T —
How far apart are these two points???

Quick Lesson: Pythagorean Theorem

I —
If a and b are the short sides (legs) of a right
triangle, and ¢ is the long side (hypotenuse), then

a’? + b? = ¢?

Find the missing side.
|

Find the missing side
|

Find the missing side
|

How can we use the Pythagorean

Theorem helﬁ us with this Eroblem?

How far apart are these two pointsg
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Find the distance between the points Find the distance between the points
I e
(1,2)and (7, 10) _, I (-4, -4) and (-1, O)
(7,10)
10 units 5 units
=[)
L2
L 2

Homework
e

Worksheet




